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Instruction : First 15 minutes are allotted

for the candidates to read the

question paper.
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All questions are compulsory.

L

Marks allotted to each question

are given in the margin.

In numerical questions, give all

the steps of calculation.

Give relevant answers to the

questions.

Give chemical equations

wherever necessary.
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TG U9 & Uds @8 H 9K faeweq §u U §)

el fawed g I HOH IW-gRaE H

feiiam

%) O, T H,0,H HEESH & HdHoT
= & " HE: €

) 0,-1
i) 0,+1
i) 0,=2
iv) -2,-1. 1

W) e FEvCH W& 9 1A el &
i) eI & ATHR
ii)  HeThl 1 ATH(FEH
iii) SHETERI T ST
iv) TR T | 1

642191



374(XY) 4

m) 273 K 3R UF IdGHAUSHE I W
IQOﬁZIFﬁﬁ'HWW 0-4 U 1 19 &
Bt
i) 246
i) ‘89-6
iii) 564
iv) 746, 1

13) ar—eﬁA,B,ca?:nDéammw_

fage a9 — 2:90, + 1-50, — 0-74 T
+ 0-34 dlee g1 M0 ganys vad
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T) A au § g6 9ef 1 pH HIF @il @
i |
i) 293
iii) 596
iv) 697. | 1

1. Four alternatives are given in each part
of this question. Select the correct
alternative and write it in your answer-
book :

a) The values of oxidation number of
oxygen in O, and H,O, are
respectively
) 0, =5
). 0,=8
iv) -2,-1. 1

542191 | Turn over



374(XY) 6

b) The magnetic quantum number

states

i) Size of orbitals

ii) Orientation of orbitals

i) Shape of orbitals

iv) Nuclear stability. 1

c) Weight of 100 ml of a gas at 273 K
and 1 atmospheric pressure 1s 04 g.

Molecular weight of the gas i1s

1) 246
i) 896
1) 56-4
iv) 746. 1
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The standard reduction potential for

elements A, B, C and D are - 2-90,

-+ 1-50, - 0-74 and + 0-34 volts. The

most oxidising agent amongst

them is

) A

1) B

i) €

iv) D. 1

The p.H value of rainwater of acid

rain 1s

1) o

i) 2to3

1) Sto6

iv) 6to7. ' 1
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Discuss Gay-Lussac's gaseous law. 1

Explain the concept of electron

cloud. e 1

Between zinc and copper, one of
them does not displace hydrogen
from acids. Why ? 1

Explain sigma and pi bonds by

giving examples. ]
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dffgeh A R i feooft faf@m 1
Rl T & 3d T 45 ITHIN H FHI:
O TYT 2 3R €| T & d ITH H
séaﬁ:ﬁw’r%lﬂwﬁaﬁr 1
Hfoeay FEHe & 3 i 3TEn
ferfam | son iy
bl & @ SN anl & WA
fefEn | 1
Write down a short .note on Global

Warming. 1

The 3d and 4s subshells of an
element contain 9 and 2 electrons
respectively. Show the distribution

of electrons in d subshell. 1



374(XY) 10
c) Write down two industrial uses of

CaCo,. 1

d) Write down the structural formulae

of two oxyacidé of Halogens. 1

4. ®) 20 FAA TESNH WGEES HI Grsdl

T /A1 J 1T iU | 2

§) 32 UH HEHFY AEeEe & T 14 §
mam.u?maﬁzr#@ﬁﬁﬁﬁm
g1 2 2

M) #H) A & 3Mgogodiotodio (IUPAC)
Y fAEn 1

i)  [Fe(H,0),]Cl,

1) If;; [Co (C,0,),]-
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ST THES GHIEHT o | 2

Calculate the concentration of

20 volumes of H,O, in gm/litre. 2

How many litres of N, gas will be

obtained by heating 32g of

ammonium nitrite at N.T.P. ? R

x) Write down IUPAC names of the

following : 1

) [Fe(H,0),]Cl,

i)  K,[Co(C,0,),].

[ Turn over



374(XY) 12

y) Explain the importance of co-
ordination compounds in
biological sysiem by giving

éxamples. 1

d) Write down the chemical equation
for the preparation of any four inter- |
halogen compounds of chlorine,

bromine and iodine with fluorine. 2

5. %) HZ d WHIGRR del U A 1 arad
gU Ud TEEHS GHET ot e 2

@) Wifegy ggEEHe & [HET S ded e
&1 TEEHE FHHIUT §d gU e guH

ST | 2
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) 3IEAV N Yeld Ud IPydd Heddnih

)

T &I AT iU | .

AT T a9l e ot Tedl

& GHSATIU | | 2

Describe with the help of labelled

diagram, method for obtaining
blister copper from matte and also

write down chemical equations. 2

b) Describe the Solvay's process of the

642191

manufacture of sodium bicarbonate
by giving chemical equations and

diagram. | 2

Discuss polar and non-polar

covalent bonds citing example. 2
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6.

d) - Explain Ionization Enthalpy and

Electron Gain Enthalpy. 2
d =iF & dc w1 9 SoERiHe O
fafEu| o =% & fdl gof 5 e &
3 favg feg e uftafad gid € 2 3

arerar
FHUT Fedl e oFUAIES & U1 H GHEAT O
fasrar =1 T ST | 3

Write down  general electronic
configuration of d block elements. How
do their ionization potential values

change in any d block series ? 3
OR

Explain the similarities and
dissimilarities in the properties of

transitional elements and lanthanides. 3
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Rt g
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) IRE H GEHERE T 6 Gy T
A& 2

i) @i TAEIEgES I 39 A9 Ud 3= I
qT WIS & WY TH 1 § 7

iii) ot =1 *1& & @Y I 99 TF ™

FAE ? 3
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7. Write down the chemical equation of the
laboratory method of preparatioﬁ of
Ammonia and Phosphine and also write
down the chemical equation of the
reaction of white phosphorus with

chlorine. 3
OR
What happens when —

1) Borax 1is heated with sulphuric

acid ?

1)) Boric anhydride is heated at high
temperature and high pressure with

Magnesium ?

1) Silica is heated with coke at high

temperature ? 3
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